
Problem on Subtraction 

Example 1: the sum of two numbers is 245892. If one of them is 183681, find
the other number. 

Solution: Sum of two numbers     = 245892

One number    = 183681 

Other number    = 245892 - 183681 

         = 62211 

Hence, the other number is 62211. 

Example 2: There are 90981 bags of wheat in a godown. If 24579 bags are
taken out, how many bags of wheat remain in the godown? 

Solution: Total bags in godown            =   90981 bags

Bags are taken out                 =   24579 bags 

Bags remain in godown        =   90981 - 24579 bags 

        =   66402 bags 

Hence, 66402 bags of wheat are remaining. 



Problem on Subtraction 

Example 3: Price of car in the year2008 was rs.459645. It’s price in the year 
2009 was increased by rs.64795. But, it’s price in the year 2010 was 
reduced by rs.45608. Find price of the car in the year 2010. 

Solution:  

Price of the car in the year 2008 = Rs. 459645 

Price of the car in the year 2009 = Rs. 459645 + Rs.  64795 = Rs. 52440 

Now, price of the car in the year 2010   = Rs.524440 - Rs. 45608 = Rs.488832 

Hence, price of the car in the year 2010 is Rs. 478832. 




